Bk

ko

# 1

=

MK
]

-
—

Bk

ko

=

MK
]

+ER

Bk

ko

e

g
m]

IIER Y - AER

Bk
Ko

¥

B

MK
]

- » B plsk
3

Bk

ko

—

0 4-02-2
LB ER

W4

:
0

e

g
m]

?LL

Bk

ko

I FERpHERREE ZEFRLERER

—4; ?:’L v

&

B

MK
]

51
52
53
54
55
56
57
58
59
60

41
42
43
44
45
46
47
48
49
50

31
32
33
34
35
36
37
38
39
40

21
22
23
24
25
26
27
28
29
30

11
12
13
14
15
16
17
18
19

20

10




Rad

A

10.

I1.

15.

16.
17.

19.
21.

24.
25.
26.
27.
28.

12 AEFRESREERE - AR S -

OmE7k gtk E ~ ORIZKFE ~ OBIHIR ~ OIS - @22RIEGE - ©FRE
e KRR TR ITEEE -

FHA IR RRE - Bl S T AT R -

o FH/KAERE T iR es b & [ Al R M2 AvliRIRF » ELLRY 100kPa JBE JJH5( -
I3k B+ =3+ 04+546=03+ PR ERE » FrEE ER =5.56mm
EITHRHERAR AT - AR R dhihhE AR A # AR A

(B)F MG 2258 ENE R ZER AT 5 (O)IEH & = o EHass iy
HH I R R A IRLE v 5 (D) 2 AR A PR » P2enhl] R ey A Bl A e 42
=L -

HEFH RN E AR R B A R FE AR ALY 1~2mm - FrDUEATHIERR 75mm > By
3mm Ed#H Imm -

(AT THZIEEMF AT IR 2 © (OB B2 E & A - HE =A%%%
A AEITHEBESE © (D) T JEFEAEFH i 2R T E -

HEIT RIS SR - T Rn iR A E -

LA AR R IORY - TR R R L H S (R () - RERERESEs Frrho L BT
R UOEIE > Q1A RENEF RS8R -

RIRR I . » Bl B ey P LB R A S i A

AR A S A AR Y LR R B R OB IR S R IR R R
R E R R 0 R -

B AR - SRR SRR ) (AR BRI E AR -
AR =12X10*+5%=1.2kQ +5% > [=V/R=12/1.2=10mA
FARTURE SR P m R e > TR s

N, : N;=E, : E;=30k : 250=120 : 1

I8 i oy P Y PR



29.
30.
31.
32.
33.

34.

35.

36.

38.

39.

40.

hee FyEEIRHBCN > B1H 156 -
T AmHE OFF(ELILE) » Vee=Vee=12V
e F e E FHIF > NOCHE BI#EENPAE - ArLL NO(HBH)Ed COM £ -
IR B IEABR RS - A Dy Bl Dy 3508 B 2R AR - AREE Ds
il D, 35 -
104k=10X10*+10%=100k pF£10%=0.1 £ F » “{AEBA R W BB EERER
02uFo
DB BRI A )28 B i » DURL EI AR (BE TR T H i) A S5 A ME— 42l
B FE SR R E Ryigm - AR PNP e 5 DU EullE R (R i) 2 B 1 -
DR (BRI A ) AR S IME— 22 - BT FE SR 2B Ry 8@ - UK NPN
TS
@Fy 0—2.5bar (YEESJ§% » ANAIBEAIRG [EEE 224 H] 5 DRy 0—21bar YRR % -
AN HEASSH S [ R TT -
QR EZZEE » AR A HEIER ) A -
(A) B HCEN 2+ (B) Ry TR EIES 5 (D) R REMHEHFE1 2
R=1.54+2/2)=15+1=2.5MQ » [=100/2.5M=40 x A=0.04mA >
Lyve=0.02mA
R=1.5+(2/2//1)=1.5+0.5=2MQ > [=1002M=50 A »

BB =100—(50 1 x1.5M)=25V





